
DESCRIPTION QTY REF.

Ref.: 9848

25 min1 person

 Easy

Innnteeermmmediate

DDDiffifificcuuullt

Nº 3
Nº T25
Nº T30

ALLEN TORX

 LOWER DEFLECTORS FOR 

R1200GS LC ‘13 -’16 / R1200GS /EXC/RALL‘17-/ R1250GS’18-

Left defl ector

Right defl ector

M5x1 nylon washer

M5x16 Ø11 ISO 7380 Allen screw

M5 ISO 7380 Allen screw cap

M5x40 ISO Ø11 7380 Allen screw

M5x50 ISO Ø11 7380 Allen screw

Ø14xØ8xØ30 arrowhead

Left metal support (L1)

Right metal support (R1)

Ø14xØ8xØ20 arrowhead

Left metal support (L2)

Right metal support (R2)

4,5 x Ø11 x 2mm ruber washer

M5x11 Ø11 ISO 7380 Allen screw

M5 DIN 9021 Ø5,3x Ø15 x1,2 Metalic washer (Black)

1

1

4

2

4

2

2

2

1

1

2

1

1

4

4

4

9848F/H/WM3

9848F/H/WM3

CASQUI------149

SOPOR-4P-2-9848

SOPOR-4P-2-9848

CASQUI------659

SOPOR-4P-2-9848

SOPOR-4P-2-9848

ARNV0000000245

TORNI-I7380-493

TAPON--------85

TORNI-I7380-774

 TORNI-I7380-773

ARAND-EPDM--722

TORNI-AI----520

ARAND-PD5---152

1

2

9

16

10

6

5

3

11

13

4

12

14

8

15

7

R1
20

0G
S 

LC
 ‘1

7 
/ 

R1
25

0G
S 

’1
8

R1
20

0G
S 

LC
 ‘1

3 
- 

‘1
6

BMW 

ID   PART

https://www.motorcycleid.com/puig/


2

3 4

1LEFT SIDE DISASSEMBLY LEFT SIDE ASSEMBLY

LEFT SIDE ASSEMBLY LEFT SIDE ASSEMBLY

  

ASSEMBLY FOR MODEL

R1200 GS LC ‘17-

5 10

106

1

3

4

79

8

1

3-4

5-6

R1250 GS  ‘18-

 - MOUNTING INSTRUCTIONS - 



6

7 8

5RIGHT SIDE DISASSEMBLY RIGHT SIDE ASSEMBLY

RIGHT SIDE ASSEMBLYRIGHT SIDE ASSEMBLY

  

ASSEMBLY FOR MODEL ‘18-

5

6

10

10

2

3

4

79

8

1

3-4

5-6

R1200 GS LC ‘17-
R1250 GS  

 - MOUNTING INSTRUCTIONS - 



2

3 4

1LEFT SIDE DISASSEMBLY LEFT SIDE DISASSEMBLY

LEFT SIDE ASSEMBLY LEFT SIDE ASSEMBLY

ASSEMBLY FOR MODEL R1200 GS LC ‘13 - ‘16

A

A

A

AA

A

11

12

16

ORIGINAL PARTS

ATTENTION: WHEN REMOVING THE CLIP, RECOVER AND REUSE THE TWO PIECES.

ORIGINAL PARTSA A

 - MOUNTING INSTRUCTIONS - 



65 LEFT SIDE ASSEMBLYLEFT SIDE ASSEMBLY

87RIGHT SIDE DISASSEMBLY RIGHT SIDE DISASSEMBLY

ASSEMBLY FOR MODEL R1200 GS LC ‘13 - ‘16

9
15

10

9

1

1

8

15

9

915
15

10 15
9

ATTENTION: WHEN REMOVING THE CLIP, RECOVER AND REUSE THE TWO PIECES.

 - MOUNTING INSTRUCTIONS -



109 RIGHT SIDE ASSEMBLY

RIGHT SIDE ASSEMBLY

RIGHT SIDE ASSEMBLY

RIGHT SIDE ASSEMBLY 1211

ASSEMBLY FOR MODEL R1200 GS LC ‘13 - ‘16

9
15

10

9

2

2

8

15

9

9 15
15

1015
9

ORIGINAL PARTSA

A

A
A

A

14

16

ORIGINAL PARTS ORIGINAL PARTSA A

A

A

13

 - MOUNTING INSTRUCTIONS - 

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html

